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QL.

a\3
2 (i) Find the first 3 terms in the expansion of (2.\- - i) in descending powers of x. [31
=
g 2 o . - 2 : %
(i) Hence find the coefficient of x in the expansion of | I + =z 2x——]. [2]
J X
Q2.
SR 5 : ; : 5 : 246
2 (1) Find the first three terms. in descending powers of x, in the expansion of (.\' - ,.) . [31]
X
s - -4 . . ; 2\6
(ii) Find the coefficient of x* in the expansion of (1 + 2 ;(.r - —) ; 2]
X
Q3.
2 T
1  Find the coefficient of x in the expansion of (.\' + ?) : [3]

Q4.

1 The coefficient of x* in the expansion of (a+ x)° + (= 2x)®, where a is positive, is 90. Find the value
of a. [5]

Q5.

i
. .. . . . 1
2 Find the coefficient of x® 1y the expansion of (2.1(3 - —2-) . [4]
X

Q6.

3 The first titwveg\ terms in the expansion of (1 - 2P (1 + a.r}"’. in ascending powers of x, are 1 —x+ b,

Find the values of the constants a and b. [6]
2 (i) In the expression (1 — px)®, p is a non-zero constant. Find the first three terms when (1 — px)® is
expanded in ascending powers of x. [2]

@ii) It is given that the coefficient of x> in the expansion of (1 —x)(1 - px)® is zero. Find the value
of p. [31

Q8.
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4 (i) Find the first three terms in the expansion of (2 + @x)’ in ascending powers of x. [31

(i) Given that the coefficient of x> in the expansion of (1 +2x)(2 + ax)” is 240. find the possible
values of a. [3]

Qo.

3 (i) Find the first 3 terms in the expansion of (2 — x}‘r’ in ascending powers of x. [3]

(ii) Given that the coefficient of X% in the expansion of (1+2x+ ax’ )(2 - x)“ 18 48, find the value of
the constant a. [3]

Q10.

2  In the expansion of {1 + ax)®, where a is a constant. the coefficient of x is —30. Find the coefficient
-3
of x. [4]

Q11.
1 9
1  Find the term independent of x in the expansion of (x - —2) z [3]
X
Q12.
1\6
1  Find the term independent of x in the expansion of (2x + —5-) ; [31
X
Q13.
1 The coefficient of x? in the expansion of (k + _%.r]5 is 30. Find the value of the constant k. 3]
Q14.
4 (i) Find the first 3 terms in the expansion of (2x — x° }6 in ascending powers of x. [3]
(ii) Hence find the coefficient of x* in the expansion of (2 +x)(2x — )", [2]
Q15.
1 Find the coefficient of x” in the expansion of (2 - %1]7. [3]
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Q16.
1 (i) Find the first three terms when (2 + 3x)° is expanded in ascending powers of x. [31]
(ii) In the expansion of (1 +ax)(2 + 3x)%. the coefficient of £ is zero. Find the value of . [2]
Q17.
. e . . . . 4
8 (i) Find the coefficient of =¥ in the expansion of (x + _“xxz] : [1]
0 e . 3 . : 5 ;
(i) Find the coefficient of x* in the expansion of (x +3x7) . [3]
= i . @ 5 2 5 2
(ili) Hence find the coefficient of x* in the expansion of [1 + (x +327)]". [4]
3
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